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1)

Question Stimulus : 

Correct Answer : 

2)

Question Stimulus : 
A boy runs on a circular track of radius ‘r’. The displacement of the boy after completing half the round is
लड़का ‘r’ ि�Ā쩤Āा केे वृ窅ृĀाकार टै縭Āक पर दौड़ता है|◌ै आधा च樱Ā पू�ा करने ेकेे प�Ȁात लड़केे काि व슄Ȁथापन है

Correct Answer :   

3)

Question Stimulus : 

T he   s pe e d  of   s ound  is   maximum  in  / 

Water / जल

Carbon dioxide /   

P lane t s   ar e   de pe nde nt   on  __________  f or   ge t t ing  light   and  he at .
िनभ㸭Āर होते ेह阮Ā |

Galaxy / आकाश गंगंा

Sate llite  / उप츱Āह

Constellations / तारामंडंल

Stars / तारेे

Stars / तारेे 

r x 2

2r

Zero / शू삾ूĀ

2  /  r

2r

 __________ / 

 / 

काब㸭Āनडाइऑ桉Āाइड

檦Āिन क� चाल इसमᘮĀ �अधकतम होती है

츱Āह 䐴Āकाश और ऊⴂ�ा पाने ेकेेि लए

एक

पर



Ste e l

Air

T he   r e fr ac tive   inde x  is   highe s t  for

Turpentine / तारपीन

Kerosene / िक�रोसन

The waves used by astronauts to communicate with one another on the moon is / 
     े         े    े

 / 

 / 

 / 

 / 

इ瘸Ȁात

हवा

इ瘸Ȁा त  

एक�ूसरेेसेबातचीत करने ेकेेि लए䐴Āयोगक�जानेवालीतरंंगेह阮Ā

Elastic Waves / 䐴Ā�Āा슄Ȁथ तरंंगे

Radio Waves / �रेेडयो तरंंगे

Seismic Waves / भूकंंूपी तरंंगे

Magnetic Waves / चंबंुक�य तरंंगे

Radio Waves / �रेेडयो तरंंगे े

अपवत㸭Āनांकं इसकेेि लए उ�Āतम होता है

W he n  a  r ay  of   light   t r ave ls   f r om  a  r ar e r   me dium  t o  a  de ns e r   me dium,   it  / ज ब  䐴Āका श क�  एकि  कर ण 
मा㲥Āम से ेएक सघन मा㲥Āम मᘮĀ या�Āा करती है,◌ै तो वह

Bends away from the normal / अधोलंबं से े�ूर मु�ती है

Bends towards the normal / अधोलंबं क� ओर मु�ती है

Goe s   unde viat e d / अ ि◌ वचल र हत ◌ी  है

Becomes parallel to the incident ray. / आ�पतति करण केे समांतंर बन जाती है

Bends towards the normal / अधोलंबं क� ओर मु�ती है ै

अंतं숝Āर�Ā�या�Āय� ं꺢Āारा चं帳Āमा पर

Correct Answer : Ste e l

4)

Question Stimulus : 

Correct Answer : 

5)

Question Stimulus : 

Correct Answer : 

6)

Question Stimulus : 



1 : 9

9 : 1

1 : 3

3 : 1

10  c m

12  c m

20  c m

24  c m

Ste e l

D iamond

24  c m 

D iamond

Two wires of identical lengths, diameters and of the same material are stretched under tensions in the ratio 1 : 9
on  a  s onome te r   box.   T he   r atio  of  the ir   fundame ntal  fr e que nc ie s   is   / दो  स म ◌ा न ल�Ā ा ई,  帘Ȁा स  और  स म
तार� ंको तनाव मᘮĀ 1 : 9 अनुपुात मᘮĀ एक सोनोमीटर ब桉Āे ेमᘮĀ ख�चंा जाता है ै| उनक� मूलू आ�वृृ窅Āय� ंका अनुपुात है

A lamp is placed in front of a plane mirror at a distance of 12 cm. The distance between the image and the lamp is
                    े                 / 

 / 

 / 

 12 

 / 

| एकलै飵ैĀको

इ瘸Ȁात

हीरा

हीरा 

सेमेी�ूरीपरएकसमतलदप㸭Āणकेेसामनेरखागया 䐴Āि�तब�Ā और लै飵ैĀ केेबीच क� �ूरी होगी

Correct Answer : 

7)

Question Stimulus : 

Correct Answer : 

8)

Question Stimulus : 

Correct Answer : 1  :  3 

9)

Question Stimulus : 

An equilateral triangle is formed by three roads AB, BC and AC, each of length 5
km.  A car starts from A, reaches B, then C and then A. The final displacement of
the car is /                 ंAB, BC   AC        ै            

एक कार सेशु搰ुĀ होती है पर प�Āँचँती �हैफर पर और ि◌फर कार का अं�ंतम ि◌व슄Ȁथापन  5    |         A     े       ,◌ै   B         ,◌ै    C            A |           िकमी
है

एकसमबा�Āि�Āकोणतीनसड़क� और 꺢Āारा�रचतहै䐴Ā�Āेकेसड़कक�ल�Āाईहै



15  km

10  km

5 km

0 km

Correct Answer : 

11)

Question Stimulus : 
Which one of the following graphs only can represent a uniform rectilinear motion? /
िन쫳Āिल�Āखत मᘮĀ से ेकेेवल एक वह कौन सा आलेखे  है ैजो एकसमान रेेखीय �गत दशा㸭Ā सकता ?              

 (t = time; v = velocity; a = acceleration) / (t =समय ;  v =वेगे ;  a =�Āरण)

Correct Answer : 0  km 

10)

Question Stimulus : 
Wh en   a  grap h   of   on e  q u an t it y  versu s  an ot h er  resu lt s  in   a  st raigh t   lin e  wit h   a  n egat ive  slop e,   t h e  q u an
एक 츱Āाफ मᘮĀ एक �राश क� तुलुना एक अ삾Ā केे साथ क� जाती है ै, औरप숝Āरणाम एक ऋणा낊Āक ढाल क� सीधी रेेखा होती है ै,तब
�राशयाँ ँहोती ह阮Ā:

directly proportional to each other. / एक �ूसरेे केे अनु樱ुĀमानुपुाती

indirectly proportional to each other. / एक �ूसरेे केे 帘Ȁु욂ुĀमानुपुाती

not proportional to each other. / एक �ूसरेे केे समानु�पुातक नह� ंहोती

independent of each other. / एक �ूसरेे से े�Ȁतं�ंĀ

not proportional to each other. / एक �ूसरेे केे समानु�पुातक नह� ंहोती 



Correct Answer : 

12)

Question Stimulus : 
A stone is thrown up with a velocity of 9 ms 1 from the top of a tower of height 18 m from
the ground level.     The time taken by the stone to fall to the ground is  (Take g = 10 ms 2)
/ एक प�Āर को 9 ms 1  केे वेगे से े�भूूम तल से े18 m ऊँँचे े捀 ंभं क�ि शखर से ेऊपर क� ओर फᘮĀका गया| 
केेि लए प�Āर 꺢Āाराि लया गया समय है:◌ै (g = 10 ms 2 लᘮĀ)

 

  �भूूमप�रगरने

1. 2  s



2. 4  s

3. 0  s

3. 6  s

  /  Q 

 / 

 P 

 / Correct Answer : 
       ं  

Correct Answer : 
कम  हो गा | 

14)

Question Stimulus : 
P is a hotel on top of a mountain peak of 6000 m height from the sea level. Q is a house in the East

Correct Answer : 3.0 s 

13)

Question Stimulus : 

Gravity is less in the equator than at the poles because
�Ā��ंक

poles ar e cover ed in t hick ice while t he equat or  is not . / 
नह�

will be the same at P, Q and R. / P, Q एवं ंR पर समान होगा|

at  P  and R  will be less t han t he gr avit y at  Q.

poles receive less sunlight than the equator. /     

earth’s magnetism is stronger at the poles than at the equator.
   ं          

the speed of rotation of Earth in the equator is more than at the poles.
          

the speed of rotation of Earth in the equator is more than at the poles.
            ै

A fr ican coast. R  is at the bottom of a mine, 3000 m below the sur face of E ar th. Gr avitational pull  /  P  
   े6000                 |◌ै Q             |◌ै R         
     3000     े |◌ै   

at P and R will be more than the gravity at Q. / Q      P   ंR           |

at P and R will be less than the gravity at Q. / Q      P   ंR          |

at R will be more than that at Q, which will be more than that at P. / R   Q  े    , 
   े   |खु�P से�अधकहोगा

अपे�ेĀाभूमू㲥Āरेेखापर쩤Āादाहोताहै

अपे�ेĀा�Āुवु�पर쩤Āादा䐴Āबलशीलहोताहै

घूणू㸭Āनकावेगे�Āुवु�क�अपे�ेĀाभूमू㲥Āरेेखापर쩤Āादाहोताहै

क� अपे�ेĀा

भूमू㲥Āरेेखाक�अपे�ेĀा �Āुवु� ंको कम रोशनीि मलती है

 / पृ쒒ृĀी का चंबंुक�Ā भूमू㲥Āरेेखा क�

एवं ंR पर गु㨰ुĀ�Āाकष㸭Āण

 / गु㨰ुĀ�Ā भूमू㲥Āरेेखा पर �Āुवु� ंक� अपे�ेĀा कम होता है

पृ쒒ृĀी केे

�Āुवु मोट� बफ㸭Ā से ेढकेे होते ेह阮Ā ज�बक भूमू㲥Āरेेखा

समु帳ुĀ
तलसे मीऊँँचीपहाड़क�चोट�परएकहोटलहै पूवू쨭Āअ怴Āीकनतटपरएकघरहै खानकेेतलपरपृ쒒ृĀी
क�सतहकेे मीनीचेहैगु㨰ुĀ�Āीय�अभकष㸭Āण

क�अपे�ेĀा एवंपरगु㨰ुĀ�Āाकष㸭Āण�अधकहोगा

क�अपे�ेĀा एवंपरगु㨰ुĀ�Āाकष㸭Āणकमहोगा

पर से�अधकहो�गाजसपर

पृ쒒ृĀी केे घूणू㸭Āन का वेगे �Āुवु� ंक�



15)

Question Stimulus : 

A particle executes SHM with amplitude a along a straight line. Its kinetic energy is

Correct Answer : 0 

16)

Question Stimulus : 
The direction of the vibration of a particle and the direction of motion of a wave are perpendicular to
each other in / एक कण केे कंंपन क�ि दशा और तरंंग क� �गत क�ि दशा एक �ूसरेे केे लंबंवत: इसमᘮĀ होती है

Correct Answer : 

17)

Question Stimulus : 
If the particles of a medium are vibrating parallel to the direction of the wave then it could
be a / �यद एक मा㲥Āम केे कण तरंंग क�ि दशा केे समांतंर कंंपन कर रहᘮĀ ह阮Ā, तब वह हो सकती है

maximum when its displacement is / एक कण a आयाम से  ेएक सीधी  रेेखा पर SHM 
इसक� �गतज ऊजा㸭Ā �अधकतम होगी जब इसकाि व슄Ȁथापन होगा

 

Sound wave / 檦Āिन तरंंग

Light wave / 䐴Āकाश तरंंग

X ray / ए桉Ā रेे

Microwave / सू퉈 ूĀ तरंंग

Correct Answer : Sound wave / 檦Ā िन तरंंग 

ि樱Āयां�ंवतकरता है ै|

0

 ±a
±a/2

±a/3

transverse waves / अनु䐴ुĀ슄Ȁथ तरंंगे

longitudinal waves / अनु�ै�ैĀ 㸭Āतरंंगे

both longitudinal and transverse waves / अनु�ै�ैĀ 㸭Āऔर अनु䐴ुĀ슄Ȁथ तरंंगे ेदोन�

neither longitudinal nor transverse waves / न ही अनु�ै�ैĀ 㸭Āऔर न ही अनु䐴ुĀ슄Ȁथ तरंंगे

transverse waves / अनु䐴ुĀ슄Ȁथ तरंंगे े



Correct Answer : 

20)

Correct Answer : 2 : 1 

19)

Question Stimulus : 

18)

Question Stimulus : 

Two springs with spring constant 4500 Nm 1 and 2500 Nm 1 are connected first
in series and then in parallel and made to oscillate with the same load
attached.  The periods of oscillations, Ts : Tp will be in the ratio 
(approximately) /          4500 Nm 1   2500 Nm 1 , ै   

   

जो लगभग इस अनुपुात मᘮĀह�गें

           ै  ं      े         |◌ै      Ts
: Tp            :◌े

दो�Ā∺Ȁंगंिजनकाकमानी�Ā슄Ȁथरांकं और हैकोपहले
�ĀेणेीमᘮĀऔ�रफरसमांतंरजोड़ाजाताहैएवंसमानभारसेजोड़करदोलनकरायाजाताहैदोलनकालह阮Ā

1 : 4

4 : 1

1 : 2

2 : 1

When an empty vessel is partially filled with water, the frequency of vibration of air column in the vessel / 
          े    ,◌ै          ु        एकखालीपा�Āकोआं�ंशक 搰Āप से ेपानी सेभराजाताहैतोपा�ĀमᘮĀवायु捀 ंबंकेेकंंपनक�आ�वृृ窅Ā

 remains the same / समान रहती है

inc r e as e s  / ब ढ़त ◌ी  है

de c r e as e s  / घटत ◌ी  है

depends on the purity of water / पानी क� �पव�Āता परि नभ㸭Āर करती है

increases / बढ़ती है ै

जब



Question Stimulus : 
If  5kg of  wat er  is heat ed f r om 20ᵒC  t o 60ᵒC , how much heat  is gained by it ?  ( Take S pecif ic H eat  of  wat er
as 4200 J kg 1K 1) / �यद ि5कलो जल को 20ᵒC से े60ᵒC तक गम㸭Ā िकया जाए,ि कतनी ऊⴂ�ा इसकेे 꺢Āारा 䐴ĀाⓃĀ क�
जाएगी? (जल क�ि �वश预Ȁट  ऊⴂ�ा को 4200 J kg 1K 1 लᘮĀ)

Correct Answer : 

21)

Question Stimulus : 
400g of ethyl alcohol at 28ᵒC is heated and boiled off completely.  The quantity of heat used
up in this process is (Take B.P. = 78ᵒC; Specific Heat =2.5 kJ kg 1K 1; L. H. of Evaporation =
850 kJ kg 1) / 28ᵒC  पर इथाइल ए㠂Ȁोहॉल केे 400 츱Āा० को पूणू 㸭Ā搰Āप से ेतⓃĀ एवं ं뱇Āिथति कया गया| 䐴Āि樱Āया मᘮĀ 䐴Āयु칀ुĀ
ऊⴂ�ा क� मा�Āा है  ै :  (B.P.= 78ᵒC;  ि �वश预Ȁट  ऊⴂ�ा=2.5 kJ kg 1K 1; वा눬Ȁन क� गु��Ā ऊⴂ�ा = 850 kJ kg 1)

Correct Answer : 

22)

Question Stimulus : 
A   ho useho l d   uses  every  d ay  i n  averag e,  4  f ans  each  o f   60W   f o r  10  ho urs,  2  f l u
bulbs each of 60W for 5 hours, 4 LCD lamps each of 25W for 6 hours, an AC unit of 1000W
for 9 hours, a TV of 240 W for 10 hours, a heater of 2 kW for 1 hour and a water pump of
0.75 kW for 4 hours.  The power consumption of the household in a month (of 30 days)
will be /  एक गृ�슄Ȁथी हरि दन औसत मᘮĀ, 䐴Ā�Āेके 60W केे 4 पंखें े10 घ�Ā� ंकेेि लये,◌े 䐴Ā�Āेके 60W केे 2 䐴Āितद��Ā晳Ȁत  5
घ�Ā� ंकेेि लये,◌े 䐴Ā�Āेके 25W केे 4 LCD लै飵ैĀ 6 घ�Ā� ंकेेि लये,◌े एक 1000W क� AC �युुनट 9 घ�Ā� ंकेेि लये,◌े एक 240
W का TV 10 घ�Ā� ंकेेि लये,◌े 2 kW का हीटर 1 घ�Āे ेकेेि लये ेऔर एक 0.75 kW का जल पंपं 4 घ�Ā� ंकेेि लये ेइ捀 ेमेाल
करती है|◌ै गृ�슄Ȁथी क� एक महीने ेमᘮĀ( 30 िदन केे) श�Ā灣Ȁत  खपत होगी

390 kJ

39 kJ

340 kJ

 34 kJ

1000 u n it s  /  1000 

390 kJ 

840 kJ

420 kJ

210 kJ

200 kJ

840 kJ 

इकाई



800 u n it s  /  800 

700 u n it s  /  700 

600 u n it s  /  600 

600 u n it s  /  600 

Under Ohm’s law conditions, / ‘     ’     ं   :

Current is inversely proportional to resistance /   ्  

Resistance is directly proportional to power. /       

Voltage is inversely proportional to power. /       

Current is directly proportional to resistance. /   ्  

C ur r ent is inver sely pr opor tional to r esistance
   

इकाई

इकाई

इकाई

इका ई 

ओम का ि◌नयम क� अव슄Ȁथा�केेअंतंग㸭Āत

िवद्ुयु्�धारा䐴Āितरोध केे 帘Ȁु욂ुĀमानुपुाती होता है

䐴Āितरोध �Āमता केेअनु樱ुĀमानुपुात होता है

वो� ेजे�Āमताकेे帘Ȁु욂ुĀमानुपुाती होता है

िवद्ुयु्�धारा䐴Āितरोध केे अनु樱ुĀमानुपुात होता है

 /ि वद्ुयु्त् ्धारा 䐴Āितरोध केे

Correct Answer : 

23)

Question Stimulus : 

Correct Answer : 
帘Ȁु욂ुĀमानुपुातीहोताहै ै

24)

Question Stimulus : 
Which physical quantity is measured in Joule/Coulomb? / 
जाती है?◌ै

Correct Answer : 

25)

Question Stimulus : 
A solenoid of length 90 cm and radius 2.5 cm has three layers of 700 turns each.  The
magnetic flux density at its centre on its axis when a steady current of 1.5 A passes

Energy / ऊजा㸭Ā

Current / धारा

Potential difference /  िवभव अंतंर

Charge / आवेशे

Potential difference /  िवभव अंतंर 

through the coil is    (Take µₒ  = 4π X 10 7 NA 2) /   90         2.5      
प숝Āर�नालका मᘮĀ 700    ं       |                   1.5 A     

एक सेमेील�Āाईऔर से�मेी�Ā쩤Āाक�
फेेर�क�तीनपरतह阮Āइसकेेअ�ĀकेेकᘮĀ帳Āपरचंुंबक�य�अभवाहससघनताजब क�슄Ȁथायीधारा

कौन सी �भौतक �राश जूलू/कूूला�Ā मᘮĀ मापी



कंुंुडली से े䐴Ā�वाहत होती है

 / कम चालकता और उ�Ā गलनांकं

 / कम चालकता और कम गलनांकं

 / उ�Ā चालकता और कम गलनांकं

 / उ�Ā चालकता और उ�Ā गलनांकं

 / उ�Ā चालकता और कम गलनांकं 

िबना अपनी �Ā슄Ȁ�थत से े�गतशील  �Āए

िबना अपनी �Ā슄Ȁ�थत से

 चालन 䐴Ā樱Āम मᘮĀ, ठोस केे अणु ुआपस

एक प숝Āरपथ मᘮĀ 䐴Āयोग  मᘮĀ आने ेवाले ेኆȀयूज़ू क�

   े        े      े  

without themselves moving from their positions / 

The material to be used as a fuse in a circuit should have / 
साम츱Āी मᘮĀ होनी �चाहए

low conductivity and high melting point           

low conductivity and low melting point           

high conductivity and low melting point           

high conductivity and high melting point           

high conductivity and low melting point  

without themselves moving from their positions / 

2.2  X  10 3  T

4.4  X  10 3  T

6.6  X  10 3  T

8.8 X 10 3 T

Correct Answer : 

26)

Question Stimulus : 
In conduction process, the molecules of the solid pass the heat from one to another:

Correct Answer : 
�गतशील  �Āए 

27)

Question Stimulus : 

Correct Answer : 

28)

Question Stimulus : 

4.4 X 10 3 T 

मᘮĀ एकसे�ूसरेेकेेमा㲥Āमसेऊⴂ�ा䐴Āसा숝Āरतकरतेह阮Ā:

themselves move from one place to another /     

w it hout   t he ms e lve s   moving  f r om  one   plac e   t o  anot he r   / 

none   of  the   above   /  उपर ◌ो 칀Ā को ई भ ◌ी  नह� 

एक슄Ȁथानसे े�सुरेे 슄Ȁथान पर �गतशील होकर

िबना 슄Ȁथानांतंरणि कए



Which scale of temperature cannot have negative temperature on it ? / 
ऋणा낊Āक ताप नह� ंहो सकता?

Celsius scale / से� ेĀ툓Ȁयस ताप樱Āम

Remeur scale /  रेे髺Ā ु� ताप樱Āम

Fahrenheit scale / फारेेनहाइट ताप樱Āम

Kelvin scale /  केे�Ā선 न ताप樱Āम

Kelvin scale /  केे�Ā선 न ताप樱Āम 

A car weighing 4.0 tons running at 45 kmhr 1 is braked suddenly so that it skids to a stop
after moving through 12.5 m.  The average braking force is / 4.0 टन  भार  क�  एक कार  जो  45
kmhr 1 पर दौड़ रही है,◌ै पर अचानक 簴Āेके लगा द� जाती हैि ैजससे ेवह 12.5 m चलने ेकेे बाद एक �Ȁॉप परि फसल जाती
है|◌ै औसत 簴Āेके बल है

ताप केेि कस ताप樱Āम पर

एक फोकस लै飵ैĀ को मं�ंदर मᘮĀ एक �मूूत㸭Ā केे ऊपर लटकाया जाना है|◌ै �लेेकन �मूूत㸭Ā केे ऊपर छत गंुंबद केे 搰Āप मᘮĀ है,◌ै लै飵ैĀ को
लटकाने ेकेेि लये ेब�Āत ऊँँची है|◌ै इ�सलए, एक छ््त केेि कनार� ंमᘮĀ �Ā슄Ȁथत दो �Āक� ंसे ेएक तार को बांधंा जाता है ैऔर लै飵ैĀ को
तार से ेइस 䐴Āकार जोड़ा जाता हैि ैक वह �मूूत㸭Ā केे ऊपर लटकती है|◌ै  ( आरेेख दे�ेĀखए) | तार 䐴Ā�Āेकेि सरेे क� छत से े45ᵒ कोण
बनाती है,◌ै जैसेैि ेकि दखाया गया है|◌ै लै飵ैĀ का भार 30ि कलो है|◌ै 삾Āूनूतम तनावि जसे ेबदा㸭Ā逞Ȁ करने ेकेेि लये ेसमथ㸭Āक तार स�Āम
होनी  �चाहए (g  �लीजये  े= 10 ms 2)

   

Correct Answer : 

29)

Question Stimulus : 

Correct Answer : 

30)

Question Stimulus : 
A focus lamp needs to be hung just above a statue in a temple. But the ceiling right above the statue is in the form of a
dome, too high to hang the lamp from there.  So, a wire is tied to two hooks in the ceiling edges and the lamp is
attached to the wire in such a way that it hangs just above the statue.  (See the diagram).  The wire makes angles 45ᵒ
with the ceiling at each end, as shown.  The lamp weighs 30 kg.  Minimum tension the supporting wire should be
capable of bearing is            (Take g = 10 ms 2) /

60 kN

40 kN

25 kN

20 kN

25 kN 



 

Correct Answer : 

31)

Question Stimulus : 
Two spheres made of different metals A and B weigh 24 kg and 21 kg respectively and their radii are in
the ratio 7:8. Their inertias are in the ratio / दो गोले ेअलग अलग धातु ुA और B से ेबने ेह阮Ā, व उनका भार 樱Āमश:
2ि4कलो और 2ि1कलो है ैऔर उनक�ि �Ā쩤Āाएं ं7:8 केे अनुपुात मᘮĀ ह阮Ā| उनकेे जड़�Ā का अनुपुात है

Correct Answer : 8 : 7 

32)

Question Stimulus : 
An athlete weighing 45 kg running at 6 ms 1 steadily increases her speed so that her
momentum after 5 seconds becomes 450 kg ms 1.  Her acceleration is /    

215 N

230 N

245 N

250 N

0.4 ms

0.8 ms

8 : 7

7 : 8

1 : 1

8/7 : 7/8

215 N  

 
वजन 45     ै  6 ms 1       ,◌ै           ै   े5       
kg ms 1         |◌ै        

 450
एक एथलीट ि◌जसका

िकलोहैऔर परदौड़रहाहैअपनावेगे�Ā슄Ȁथरतापूवू㸭Āकबढ़ाता�हैजससेसेके桿Āबादउसकासंवेंगे
बन जाता हैउसका �Āरण है

 2

 2



2000

20

210

45

1.0 ms

1.2 ms

0.8 ms

A r r ange t he f ollowing planet s in incr easing or der  of  size:  E ar t h, Mar s, S at ur n, U r anus
साइज़ केे बढ़ते े樱Āम मᘮĀ 帘Ȁव�Ā슄Ȁथत करᘮĀ: पृ쒒ृĀी, मंगंल,�शन, यु�ेेनस

Mars – Earth – Uranus – Saturn / मंगंल–पृ쒒ृĀी–यु�ेेनस–�शन

Magnifying power of a telescope in normal adjustment, with 2m and 10 cm respectively as the focal
lengths of its objective and eyepiece, is / सामा삾Ā समायोजन मᘮĀ �ूरबीन क� आवधन㸭Ā �Āमता, 
और �नेे�Āका केे फोकसीकरण 樱Āमश: 2m और10 cm ह阮Ā, होगी

 

 2

 2

 2  Correct Answer : 

33)

Question Stimulus : 

Correct Answer : 20 

34)

Question Stimulus : 
Magnifying power of a simple microscope of focal length 10.0 cm for a person whose least
distance of distinct vision is 20 cm is  / एक  帘Ȁ�Ā칀Ā  केे ि लए  फोकसीकरण  10.0 सेमेी  वाले  ेसू퉈 ूĀदश쨭Ā क�
आवध㸭Āन �Āमता,ि जसक� सु瘸ुȀ预Ȁट  दश㸭Āन केेि लएि नकटतम �ूरी,  है ै20 सेमेी, है:◌ै

Correct Answer : 3 . 0  

35)

Question Stimulus : 

 / 

िजसकेेव捀 �ुुन预Ȁठ 

िन쫳Ā 츱Āह� ंको उनकेे

2.0

2.5

3.0

3.5



Mar s – S at ur n – E ar t h – U r anus

Earth – Uranus – Mars – Saturn /  – – –

मंगंल–पृ쒒ृĀी–यु�ेेनस–�शन Mar s – E ar t h – U r anus – S at ur n  / 

Newton

M ome nt um

D yne  / 

E r g / 

T he   numbe r   of   os c illat ion  pe r   s e c ond  by  a  par t ic le   is   know n  as   ________
कहलाती है_◌ै_______

A mplitude  / आय ◌ा म

A   quant it y  of   f or c e   w hic h  pr oduc e s   an  ac c e le r at ion  of   1  m/s 2  in  a  body  of   mas s   1  kg  is   know n  as

प숝Āरमाण जो      ु 1 m/s2 का �Āरण उतप㚺Ā करता है,◌ै को कहा जाता है 1ि कलो 帳Ā帘Ȁमान क� व捀 ुमᘮĀ

 / 삾Āूटून

 / संवेंगे

डाइन

अग㸭Ā

Newton / 삾Āूटून 

 / मंगंल–�शन–पृ쒒ृĀी–यु�ेेनस

पृ쒒ृĀीयु�ेेनसमंगंल�शन

ब ल का  एक

कण 꺢Āारा दोलन क� 䐴Āित सेके桿Ā सं졋ंĀा

Earth – Saturn – Mars  – Uranus /  पृ쒒ृĀी–�शन–मंगंल–यु�ेेनस

Correct Answer : 

36)

Question Stimulus : 
In   n   t yp e  sem i con d u ct or  el ect ron s  are  m aj ori t y  ch arge  carri ers  b u t   i t   d oes  n ot   sh ow  an y  n egat i ve  ch arg

Correct Answer : 

37)

Question Stimulus : 

Correct Answer : 

38)

Question Stimulus : 

/ n          े  े ,   ु          ं      ै :䐴Ā搰Āपअ岚Ā㸭ĀचालकमᘮĀइले툿ेĀ縭Āॉनब�Āलता सेआ�वेेशत होतेह阮Āिक늪Āुऋणा낊Āकआवेशेकतई䐴Ā�दश㸭Āतनह�करते।ेकारणहै

electrons are stationary / इले툿ेĀ縭Āॉन अचर होते ेहै

electrons neutralize with holes / इले툿ेĀ縭Āॉन 숝Āर�Ā칀Ā केे साथ 䐴Āभावहीन/उदासीन होते ेह阮Ā

mobility of electrons is extremely small /  इले툿ेĀ縭Āॉन क� �गतशीलता अ�Āिधक कम होती है

atom is electrically neutral / परमाणुि ुवद्ुयु्तीय उदासीन होते ेह阮Ā

atom is electrically neutral / परमाणुि ुवद्ुयु्तीय उदासीन होते ेह阮Ā 

 / 

 / 



Fr e que nc y

Wave le ngt h

Wave   pe r iod

W he r e   all  light   ar e   vanis he d

Fr e que nc y

Where all light directed at that lens bends

A focus point is ___________ / एक फोकसि बंदं ुुहै_◌ै__________

Where all light directed at that lens travels and turns / 
 ै      

A   man  is   w ait ing  f or   t he   bus   at   t he   bus   t e r minal  f or   ne ar ly  half   an  hour   c ar r ying  a  luggage   of   25 
The work done by the man is /        े      25                       

    े      |◌ै             

 / 

 / 

 / 

 / 

 / 

 / 

हैऔ�रफरमु�ताहै

आ�वृृ窅Ā

तरंंग �ूरी

तरंंग काल

आ�वृृ窅Ā 

जहाँ ँसंपूंणू㸭Ā 䐴Āकाश गायब हो जाता है

जहाँ ँउस लᘮĀस परि न�देेशत संपूंणू㸭Ā 䐴Āकाश मु�ता है

एकआदमीअप�नेसरपर िकलोकासामानढोकरबस�टम㸭Āनलपरबसका
तकरीबनआधे ेघ�Āे ेसेइंतंज़ारकररहाहैआदमीकेे꺢Āा�राकयागयाकाय㸭Āहोगा

Zero / शू삾ूĀ

Positive / धना낊Āक

N e gat ive  / ऋ णा 낊Ā क

Undefined / �अनधा㸭Ā숝Āरत

Zero / शू삾ूĀ 

जहाँ ँउस लᘮĀस परि न�देेशत संपूंणू㸭Ā 䐴Āकाश या�Āा करता

Correct Answer : 
       

Correct Answer : 

39)

Question Stimulus : 

40)

Question Stimulus : 

Correct Answer : 

41)

Question Stimulus : 
A pebble of mass 250 g is dropped by Tanuja from a tower top. If it takes 2.8 s to reach the ground, the

Where all the light directed at that lens converges or diverges
       

Where all the light directed at that lens converges or diverges
     ै

  /  

  /  

�अभस숝Āरत या अपसा숝Āरत होता है

संपूंणू㸭Ā䐴Āकाश�अभस숝Āरतयाअपसा숝Āरतहोताहै

जहाँ ँउस लᘮĀस परि न�देेशत संपूंणू 㸭Ā䐴Āकाश

जहाँ ँउस लᘮĀस परि न�देेशत



140 J

125 J

112 J

98 J

 / एक मेगेा जूलू इसकेे बराबर है

kinetic energy of the pebble when it hits the ground is (Take g = 10 ms 2) / एक 250 츱Āाम 帳Ā帘Ȁमान क� �गुुटका
को 捀 ंभंि शखर से ेतनुजुा 꺢Āारा डाला गया| �यद उसे े�भूूम पर प�Āँचँने ेमᘮĀ 2.8 सेके桿Ā लगते ेह阮Ā, तो �भूूम परि हट करने ेपर
�गुुटका क� �गतज ऊजा㸭Ā होगी (g = 10 ms 2 लᘮĀ)

Correct Answer : 

44)

Correct Answer : 

43)

Question Stimulus : 

Correct Answer : 98 J 

42)

Question Stimulus : 

When the force acts in the same direcĕon as that of displacement, the work done by the force is
              ,◌ै            िदशा केेसमान ि◌दशा मᘮĀकाय㸭Āकरता हैतो बल 꺢Āारा ि◌कया गया काय㸭Āहोगा

Posiĕve  /  धन ◌ा낊Āक

Negaĕve / ऋणा낊Āक

Zero / शू삾 ूĀ

Undened / �अनधा㸭Ā숝Āरत

Undened / �अनधा㸭Ā숝Āरत 

 / जब बलि व슄Ȁथापन क�

104Joule

105Joule

106Joule

One Mega Joule is equal to

106Joule 

10 Joule7   



Correct Answer : 

47)

Question Stimulus : 

Correct Answer : 

46)

Question Stimulus : 
When a current changes from +2A to – 2A in 0.05 second, an emf of 8 V is induced in a coil. The coefficient of self
induction of the coil is : / जब धारा 0.05 सेक�ं ड मᘮĀ +2A से े– 2A मᘮĀ प숝Āर�वत㸭Āत होती है,◌ै तो कंुंुडली मᘮĀ 8 V का emf 䐴Ā े숝
होता है।ै कंुंुडली केे आ낊Ā 䐴Āेरेण का गुणुांकं होगा :

Correct Answer : 108  J 

45)

Question Stimulus : 

3 J

0. 3  J

108  J

10. 8  J

Always Zero

Always Positive 

Always  Negat ive

Distance travelled by a body is

Sometimes positive & sometimes negative

Always  P osit ive    /  

A  f orce  of   18  N  m oves  a  b od y  b y  6m   in   it s  d irect ion .   Th e  Work   d on e  is
6            

18 

  /  

  /  

  /  

  /  
मी चलाता है|◌ैि कया गया काय㸭Āहै

 / व捀 ु ु꺢Āारा तय क� गई �ूरी होती है

हमेशेा शू삾ूĀ

हमेशेा ऋणा낊Āक

हमेशेा धना낊Āक

 / कभी कभी धना낊Āक और कभी कभी ऋणा낊Āक

हमेशेा धना낊Āक 

삾Āूटून का बल एक व捀 ु ुको उसक�ि दशा मᘮĀ

0. 1  H

0. 2  H

0. 4  H

0. 8  H

0. 1  H 



Question Stimulus : 
A 50 Hz alternating current of peak value 2 Ampere flows through the primary coil of a transformer. If the
mut ual  induc t anc e   be t w e e n  t he   pr imar y  and  s e c ondar y  be   0. 5  He nr y,   t he n  pe ak  value   of   t he   indu

Correct Answer : 

49)

Question Stimulus : 
A hot liquid kept in a beaker cools from 80°C to 70°C in two minutes. If the surrounding temperature is 30°C,

Correct Answer : 200 V 

48)

Question Stimulus : 

100  V

150  V

200  V

250  V

 / 

then the time of cooling of the same liquid from 60°C to 50°C is: /                  80°C  े
होकर 70°C हो जाता है ।ै  �यद आसपास का तापमान 30°C,         60°C   े50°C    े        ै :

240  s

480  s

360  s

216  s

50 Hz             
           

उपरो칀Ā सभी 

�रेेडयो�स樱Āय अ�पश预Ȁट  केेि पंडंन का मतलब है

एक  क� 䐴Ā�Āावत쨭Ā धाराि जसका चरममान 2 ए飵Āीयरहै,◌ै एकट縭Āा�Āफॉम㸭Āरक� 䐴Āा�थमक कंुंुडलीकेे मा㲥Āम से
गुजुरती है।ै�यद 䐴Āा�थमक एवं ंि◌꺢Āतीयक कंुंुडलीकेे बीचअ삾Āो삾Ā 䐴Āेरेक�Ā 0.5 हेनेरी है,◌ै तो䐴Āे숝ेĀरत वो� ेजे काचरम मान
हो गा  :

बीकर मᘮĀरखा एक तरल दो ि◌मनट मᘮĀ सेठंंडा
तोउसीतरलको से होनेमᘮĀलगासमयहै

Solidification of radioactive waste means

C alcination  /  ि न捀  ा पन

Bituminization / िबटूूमेनेीयन

Vit r if icat ion  /  �क चत ◌ी कर ण

A ll of the above  /  उपर ◌ो 칀Ā स भ ◌ी

A ll of the above  / 



Correct Answer : 
     ै

Correct Answer : 

2)

Question Stimulus : 

The successive members of alkene series differ by / 

Correct Answer : 216 s 

50)

Question Stimulus : 
The magnitude of displacement is / 

Topic:  Chemistry
1)

Question Stimulus : 

Select the substance having only one type of atoms  from the following: /
                       ु  े

CH4

 CH3

Always zero / 

Always  great er  t h an   t h e  d ist an ce  / 

Always equal to or less than the distance traversed / 

Some times greater or lesser than the distance. /        े  

Always equal to or less than the distance traversed / 
कम होता है

िव슄Ȁथापन का प숝Āरमाण

हमेशेा तय क� गई �ूरी केे बराबर या उससे ेकम होता है

हमेशेा शू삾ूĀ होता है

हमेशेा �ूरी से ेबढ़ा होता है

कभी कभी �ूरी से쩤Āादा या कम होता है

हमेशेा तय क� गई �ूरी केे बराबर या उससे

िन쫳Āिल�Āखत मᘮĀ से ेउसपदाथ㸭ĀकाचयनकरᘮĀिजसमᘮĀमा�Āएकही䐴Āकारकेेपरमाणुहोतेह阮Ā।

Brass / पीतल

Air / वायु

Milk / �ूध

Oxyge n  /  ऑ桉Āी ज न

Oxyge n  /  ऑ桉Āी ज न 

ए㠂Ȁीन �Āंखंला केे उ��ो�� सद䡁Ȁ अलग इसकेे 꺢Āारा ह阮Ā

  CH2  



>CH 

How   many  of   t he   t w e nt y  amino  ac ids   ar e   e s s e nt ial  amino  ac ids ?  / 
िकतने ेह阮Ā?

14

10

8

6

10

N ame   the   pr ope r ty  c hos e n  by  M e nde le e v  to  ar r ange   the   e le me nts   in  the   pe r iodic   table .   / 
जो मᘮĀडेलेीव ने ेआवत㸭Ā सारणी मᘮĀ त�Ā� ंको 帘Ȁव�Ā슄Ȁथत करने ेकेेि लये ेचुनुी थी

metallic nature / धा�Ā�Āक 䐴Āा�कृृत

electro negativity / िवद् ्युत्ु ्ऋणा낊Āकता

atomic number / परमाणुु樱Āमांकं

Correct Answer : 

4)

Question Stimulus : 

Correct Answer :   

5)

Question Stimulus : 

Correct Answer :   CH2  

3)

Question Stimulus : 
A gas on treatment with dry slaked lime yields bleaching powder. The gas is:

            :◌ै
 /  

करने ेपरि वरंंजन चूणू㸭Āउतप㚺Āकरतीहै।ैगैसैहै

Chlorine / 癇Āोरीन

Nitrogen / नाइट縭Āोजन

Oxyge n  /  ऑ桉Āी ज न

Fluorine  / �Ā ोरीन

Chlorine / 癇Āोरीन 

बीस अमीनो अ틼Ā� ंमᘮĀ आव㈢Ȁक अमीनो अ틼Ā

गुणुधम㸭Ā का नाम बताइये

एक गैसै सूखेू ेबुझेु ेचूनेू ेकेे साथ 䐴Āितपादन



at omic   mas s   /  ु

at omic   mas s   / 

W hic h  of   t he   f ollow ing  r e s ult s   in  a  c he mic al  c hange ?  / 

Passing electric current through water /      े

Melting of a candle /      

Dissolving sugar in water /           

Boiling of water to form steam /      े  

W hic h  one   of   t he   f ollow ing  is   a  s ublimat e   c ompound?  / 

Sodium chloride /   

Potassium chloride /   

Ammonium chloride /   

Magnesium chloride /   

A mmonium  c hlor ide   / 

Which of the following is the correct statement about fluid? / 

Only gases behave like a fluid. /     े      

Solids and gases behave like a fluid /         

Liquid and gases behave like a fluid. /       े  

Only liquids are the fluid /         े

L iquid  and  gas e s   be have   like   a  f luid.   / 

परमाणुसंहंित

परमाणुुसंहंित 

िन쫳Ā मᘮĀ से ेकौन सा एक ऊ檦Āप㸭Āातज �यौगक है?◌ै

�सोडयम 癇Āोराइड

पो�टैैसयम癇Āोराइड

अ�मोनयम 癇Āोराइड

�मैै�Āिसयम癇Āोराइड

अ�मोनयम 癇Āोराइड 

तरल केे बारेे मᘮĀ िन쫳Ā मᘮĀ से ेसही त鈁� कौन सा है?◌ै

केेवलगैसेैहीतरलक�तरह 帘Ȁवहार करती ह阮Ā

ठोसऔरगैसैतरलक� तरह 帘Ȁवहार करते ेह阮Ā

帳Ā帘Ȁऔरगैसेैतरलक� तरह 帘Ȁवहार करते ेह阮Ā

केेवल帳Ā帘Ȁतरलहोतेह阮Ā

帳Ā帘Ȁ और गैसेै ेतरल क� तरह 帘Ȁवहार करते ेह阮Ā 

िन쫳Ā मᘮĀ से ेकौन एक रासा�यनक प숝Āरवत㸭Āन को प숝Āरणाम देतेा है?◌ै

जल�सेवद्ुयु्त् ्धारा 䐴Ā�वाहत होना

मोम का ि◌पघलना

चीनीकाजलमᘮĀघुलुना

वा눬Ȁ बनने�केेलए जल का उबलना

Correct Answer : 

6)

Question Stimulus : 

Correct Answer : 

7)

Question Stimulus : 

Correct Answer : 

8)

Question Stimulus : 



Correct Answer : 

9)

Question Stimulus : 
Mutual sharing of electrons between two atoms leads to the formation of / 

Correct Answer : 

10)

Question Stimulus : 
Which one of the following represent the correct chemical formula? / 
दशा㸭Āता है?◌ै

Correct Answer : Na3N 

11)

Question Stimulus : 

NaS

CaCl

Ca3P

285  K

288  K

185  K

361  K

Passing electric current through water / 

Na3N

       े        ै :

  880C     

आपसमᘮĀसाझाकरनेपर इसक�रचनाहोतीहै

Ionic bond / आयनी आबंधं

Coordinate bond / उपसहसंयंोजकता आबंधं

Covalent bond / सहसंयंोजी आबंधं

Hydrogen bond / हाइड縭Āोजन आबंधं

Covalent bond / सहसंयंोजी आबंधं 

इथेने का 뱇Āथनांकं

जल सेि ेवद्ुयु्त् ्धारा 䐴Ā�वाहत होना 

दो परमाणुओंु ंकेे बीच इले툿ेĀ縭Āॉन� ंको

िन쫳Ā मᘮĀ से ेसही रासा�यनक सू�ूĀ कौन सा एक

है।ै केे�Ā선 न ताप樱Āम मᘮĀ यह होगाThe  boiling  point   of   et hane  is    880C.   In  Kelvin  scale  it   will  be   



Correct Answer : 

Correct Answer : 

13)

Question Stimulus : 

The first model of atom was proposed by   / 

Correct Answer : 

14)

Question Stimulus : 

Correct Answer : 185 K 

12)

Question Stimulus : 

Which one of the following is NOT an example of chemical change? / 
 े

One   pm  is   e qual  t o      / 

10 – 12 m

10 – 10 m

10 – 15m

10 – 9 m

10

 pm 

m 

Neils Bohrs /   

Ernest Rutherford /   

J.J.Thomson /     

Eugen Goldstein /   

J.J.Thomson /   

  

एक इसकेे बराबर है ै 

सेकौन रासा�यनक प숝Āरवत㸭Āन का उदहरण नह� ंहै?◌ै

Ripening of fruits. / फल� ंका पकना

For mat ion  of   c ur d  /  दही   का   ज म ना

Sublimation of naphthalene / ने癳ेȀथलीन का ऊ檦Āप㸭Āातन

Rusting of iron / लोहे ेका जंगं लगना

Sublimation of naphthalene / ने癳ेȀथलीन का ऊ檦Āप㸭Āातन 

परमाणु ुका 䐴Āथम 䐴Āित搰Āप इनकेे 꺢Āारा 䐴Ā捀 �ावति कया गया था

नी툓Ȁ बोस㸭Ā

अन䘮Ā�Ȁरदरफोड㸭Ā

जे०ेजे०ेथॉमसन

यूजेूनेगो嘉Ȁ�Ȁीन

जे०ेजे०े थॉमसन 

ि न쫳Āि ल�Ā खत   मᘮĀ

 – 12 



15)

Question Stimulus : 

Correct Answer : 

17)

Question Stimulus : 
During the electrolytic refining of impure metals, the insoluble impurities / 

Correct Answer :   े      े 

16)

Question Stimulus : 

The process of heating the ore in the presence of excess of air in order to
remove Sulphur impurities is called /        ं       े        

             े              :◌ै

The anion of an element has   /           

More electrons than the atom /   ु े  

Less electrons than the atom /   ु  े  

Same number of electrons as the atom /   ं

More protons than the atom /   ु े  

More electrons than the atom / 

    ,    :

Move towards cathode /               

Migrate towards anode /               

Settle down at the bottom of the anode as anode mud /          

Go into the solution / िवलेये मᘮĀ चली जाती है

एकत�ĀकेेआयनमᘮĀ

परमाणुसे�अधकइले툿ेĀ縭Āॉन होते ेह阮Ā

परमाणुसेकमइले툿ेĀ縭Āॉन होते ेह阮Ā

इले툿ेĀ縭Āॉन�क� सं졋ंĀा परमाणु ुकेे समान होती है।ै

परमाणुसे�अधक䐴Āोटॉन होते ेह阮Ā

परमाणु ुसे�अधकइले툿ेĀ縭Āॉनहोतेह阮Ā

अशु岚Ā धातुओंु ंकेेि वद्ुयु्त् ्अपघटनी
पृथृ︼Āरणकेेदौरानअघुलुनशीलअशु岚Āता

केेथोडक�ओ�रव슄Ȁ�थापतहोतीहै

ऐनोड क� ओर ि◌व슄Ȁ�थापत होती है

ऐनोडकेेतलमᘮĀऐनोड पंकं केे 搰Āप जमा हो जाती है

स對Ȁरक�अशु�Ā岚Āय�को�ूरकरने�केेलए�अत숝Āर칀Āवायु ुक�
उप�Ā슄Ȁ�थतमᘮĀअय젮Ȁकोगम㸭Āकरनेक�䐴Āि樱Āयाकोकहाजाताहै

C alc inat ion  /  ि न捀  ा पन

Sme lt ing  /  䐴Āगलन

Roasting / भज㸭Āन

Gravity separation / गु㨰ुĀ�Āीय पृथृकन

Roasting / भज㸭Āन 



Correct Answer : 
जमा हो जाती है ै

18)

Question Stimulus : 

The percentage of fresh water in total water on the earth is / 

Correct Answer :   

19)

Question Stimulus : 

Taj Mahal is threatened by pollution from / 

Correct Answer : Sulphur dioxide / 

20)

Question Stimulus : 

Carbon monoxide /   

Carbon dioxide /   

C hlor ine   / 

Sulphur dioxide /   

W hic h  of   t he   f ollow ing  f ue ls   has   t he   highe s t   c alor if ic   value ?  / 

Hydrogen / हाइड縭Āोजन

Biogas / जैवै गैसै

L.P.G. / एल.पी.जी

C.N.G. / सी.एन.जी

Correct Answer : Hydrogen / हाइड縭Ā ोजन 

46%

32%

16%

2.5%

2.5%

Settle down at the bottom of the anode as anode mud / 

ताज महल 䐴Ā�ूषण 꺢Āारा संकंट मᘮĀ इसकेे कारण है

काब㸭Āनमोनोऑ桉Āाइड

काब㸭Āनडाइऑ桉Āाइड

癇Āोरीन

स對Ȁर डाइऑ桉Āाइड

स 對Ȁ र   डा इऑ桉Āा इड 

पृ쒒ृĀी पर कुुल जल मᘮĀ ताज़े ेजल क� 䐴Āित逞Ȁता है

िन쫳Ā इंधंन㸭Ā� ंमᘮĀ सेि ेकसका कैैलोरीजनन मान सव∯Ā窅Āम है?◌ै

ऐनोड केे तल मᘮĀ ऐनोड पंकं केे 搰Āप



Correct Answer : 6 

21)

Question Stimulus : 

Correct Answer : 

23)

Question Stimulus : 
As per Newlands law of octaves, how many elements are there between two similar elements / 
िनयम केे अनुसुार, दो समान त�Ā� ंकेे बीचि कतने ेत�Ā होते ेह阮Ā?

Correct Answer : Caesium / 

22)

Question Stimulus : 

The second member of alkyne series is / 

8

7

6

9

Ethyne / एथाइन

but 1 yne / 껥Āूटू 1 आइन

but 2 yne / 껥Āूटू 2 आइन

Propyne / 䐴Āोपाइन

Pr opyne   / 

W hic h  of   t he   f ollow ing  alkali  me t als   is   t he   s t r onge s t   r e duc ing  age nt ?  / 
      ?◌ै

L it hium  / 

अपचायक कौन सा है

�लीथयम

Sodium / स ◌ो ि◌  डयम

Potassium / पो�टैैशयम

Caesium / स ◌ी ि◌ ज़ य म

䐴Āो पा इन 

सी ि◌ ज़यम  

ए㠂Ȁाइन �Āंखंला का �ूसरा सद䡁Ȁ है

िन쫳Ā �Āार धातुओंु ंमᘮĀ से ेसबसे े䐴Āभावशाली

अ訪Ȁक केे 삾Āू ूल阮Āड केे



24)

Question Stimulus : 
Which one of the following oxide of the element turns blue litmus red? / 
नीलेि ेलटमस को लाल मᘮĀ बदल देतेा है?◌ै

Correct Answer :   

25)

Question Stimulus : 
Which of the following property increases across the periodic table? / 
है?◌ै

i .Increase in pressure  / 

ii .Increase in temperature /

iii .Decrease in pressure / 

iv.Decrease in temperature / 

Correct Answer :   

26)

Question Stimulus : 

Factors responsible for changing the physical state of solid carbon dioxide when
exposed to air are – / हवा मᘮĀ अनावृतृ कराने ेपर ठोस काब㸭Āन डाइऑ桉Āाइड क� �भौतक अव슄Ȁथा मᘮĀ प숝Āरवत㸭Āन 

 े  

Atomic size / परमाणु ुनाप

Chemical reactivity / रासा�यनक �अ�भ樱Āयाशीलता

Valency / संयंोजकता

Electronegativity / िवद् ्युत्ु ्ऋणा낊Āकता

Electronegativity / िवद् ्युत्ु ्ऋणा낊Āकता

Na

Al

S

Mg

S

त�Ā काि न쫳Ā मᘮĀ से ेकौन सा एक ऑ桉Āाइड

आवत㸭Ā सारणी मᘮĀ कौन साि न쫳Ā गुणुधम㸭Ā बढ़ता

िलयेउ窅Āरदायीकारक ह阮Ā–  

दाब मᘮĀ वृ�ृĀ岚Ā

 ताप मᘮĀ वृ�ृĀ岚Ā

दाब मᘮĀ कमी

ताप मᘮĀ कमी



i          &        ii

i          &        iii

ii         &        iii

ii     &    iv

Correct Answer : 

29)

Correct Answer : 

28)

Question Stimulus : 

Correct Answer : ii     &    iii 

27)

Question Stimulus : 

 

Fe 2O3

Fe 2O3. xH2O

Fe 2O3. xH2O 

W hat  is   the   c he mic al  for mula  of  r us t?  / 

FeO

Fe 3O4

Fr om  the   follow ing  c he mic al  r e ac tions ,   ide ntify  the   r e ac tion  w he r e   a  non me tal  ac ts   as   a  r e duc ing  ag
रासा�यनक 䐴Āि�त樱Āया� ंमᘮĀ से,◌े वह 䐴Āि�त樱Āया बताइएि जसमᘮĀ अधातु ुएक अपचायक क� तरह काम करता है

जंगं का रासा�यनक सू�ूĀ �Āा है?◌ै

िन쫳Ā



Question Stimulus : 
Which of the following has two lone pair of electrons? / 

Correct Answer : H2O 

30)

Question Stimulus : 
T he   r at io  of   C   :   O  in  c ar bon  monooxide   is   3  :   4  and  in  c ar bon  di  oxide   is   3  :   8.   W hic h  law   of   c he 

Correct Answer : Law of multiple proportion /   

31)

Question Stimulus : 

Cinnabar, the ore of mercury , when heated in air evolves a gas ‘X’ along with
the formation of  HgO. Identify  ‘X’ /  ,      ,        े  ‘X’ गैसै

 ै          

O2

SO3

SO2

NH3

CH4

CO2

BeH2

  HgO    ‘X ’ 

H2O

is represented by these data? / काब㸭Āन मोनोऑ桉Āाइड मᘮĀ C : O का अनुपुात 3:4 है ैऔर काब㸭Āन डाइऑ桉Āाइड मᘮĀ 3 : 8 |ै
इन आकड़� ं꺢Āारा रासा�यनक संयंोजन का कौन साि नयम दशा㸭Āया जाता है?◌ै

Law of constant proportion / िनयत समानुपुात काि नयम

Law of multiple proportion / ब�Ā�गुुणत समानुपुात काि नयम

Law of conservation of mass /帳Ā帘Ȁमान संरं�Āण का ि नयम

Law of reciprocal proportion  / 帘Ȁ ु욂 ुĀम समानुपुात का ि नयम

ब�Ā�गुुणत समानुपुात काि नयम

िनकालता हैऔर साथ मᘮĀ ि�नम㸭Āतहोताहै।ै
िसनबारमरकरीकाअय젮ȀहवामᘮĀगम㸭Āकरनेपर

पहचा ि◌ नये

िन쫳Ā मᘮĀ सेि ेकसकेे पास दो एकाक� इले툿ेĀ縭Āॉन यु�ुĀ है?◌ै

है



Correct Answer : 

33)

Question Stimulus : 
Silver articles lose its lustre on exposure to air. It is due to the formation of / 
अपनी चमक खो देतेी ह阮Ā। यह इसकेेि नमा㸭Āण केे कारण होता है

Correct Answer : SO2 

32)

Question Stimulus : 

Correct Answer :  Ag2S 

34)

Question Stimulus : 
Two elements A and B have variable valencies 5 & 3 and 3 & 2 respectively. The elements A and B are most likely

AgBr

Ag2O

High  c onc e ntr ation  of  fluor ide   ion  in  w ate r   c an  c aus e   / 
सकती है:◌ै

Kidney damage / गु�䘮Ā क� �Āित

Sc ur vy  /  젮Ȁ व쨭Ā

Muscular weakness /   ं  

Brown mottling of teeth /   ं        

Brown mottling of teeth /   ं

AgCl

to be   / दो त�Ā� ंA एवं ंB क� प숝Āरवत쨭Ā संयंोजकता 樱Āमशः 5 एवं ं3 तथा 3 एवं ं2 है।ै त�Ā A 
क� संभंावना है ै 

 ंB     े    

Copper and Oxygen / ताँबँा एवं ंऑ桉Āीजन

Sulphur and Iron / स對Ȁर एवं ंलोहा

Phosphorous and Sulphur / फ़ॉ刻Ȁोरस एवं ंस對Ȁर

मांसं�पेेशय�मᘮĀकमजोरी

दांतं�काभू�ाध�Āेदेारहोना

दांतं�का भू�ा ध�Āेदेार होना 

जल मᘮĀ �Āोराइड आयन क� उ�Ā सां帳ंĀता इसका कारण बन

चांदंी क� व捀 ुएुं ंहवा से ेउद् ्भासन पर

एवं क� सबसे�अधक यह होने

 Ag2 S



Al2O   +  he at

A n  oxidis ing  age nt   / 

A   r e duc ing  age nt   / 

A   de hydr ating  age nt  / 

A   r e duc ing  age nt   / 

Phosphorous and Iron /     ं

P hos phor ous   and  I r on  / 

The characteristic feature of isotopes of an element is /         

They contain same number of neutrons but different number protons. /  
䐴Āोटॉन� ंक� सं졋ंĀाि �वभ㚺Ā होती ह阮Ā।

 

They contain same number of neutrons but different number of electrons. / 
िक늪Āु ुइले툿ेĀ縭Āॉन� ंक� सं졋ंĀाि �वभ㚺Ā होती ह阮Ā।

They contain different number of protons as well as neutrons. /  
䐴Āोटॉन� ंक� सं졋ंĀा भीि �वभ㚺Ā होती है।ै

   ं 

They contain different number of neutrons but same number of protons. /  
िक늪Āु ु䐴Āोटॉन� ंक� सं졋ंĀा समान होती है।ै

   ं  

T he y  c ontain  diffe r e nt  numbe r   of  ne utr ons   but  s ame   numbe r   of  pr otons .   / 
       ु  ं        

2Fe  +

आ桉Āी का र क

अपचायक

िनज㸭Āलीकारक

फ़ॉ刻Ȁोरस एवंलोहा

फ़ॉ刻Ȁोरस एवं ंलोहा 

िवकाब∯Ā�Ā桉Āलकारक

अ पचा य क 

उनमᘮĀ삾Āूटू縭Āॉन�केेसाथ साथ

उनमᘮĀ 삾Āूटू縭Āॉन� ंक� सं졋ंĀा समान

उनमᘮĀ 삾Āूटू縭Āॉन�

उनमᘮĀ삾Āूटू縭Āॉन�क�सं졋ंĀा तोि �वभ㚺Ā

त�Āकेेसम슄Ȁ�थानक�का�वश訪Ȁ ल�Āण है ै 

उनमᘮĀ삾Āूटू縭Āॉन� ंक� सं졋ंĀा समानि क늪Āु

FeO  + 2Al

Correct Answer : 

Correct Answer : 

35)

Question Stimulus : 

Correct Answer : 

37)

Question Stimulus : 

2Fe  + Al O

The function of Aluminium is to act as / 
 

 + heat 

क� सं졋ंĀा�तो�वभ㚺Āिक늪Āु䐴Āोटॉन�क�सं졋ंĀासमानहोतीहै।ै 

36)

Question Stimulus : 

The following reaction is used to join railway tracks Fe O  + 2Al   

2 3(S) (S)  (l) 2 3(S)

2 3(S) (S)
3(S)

(l)

जाती है

ए刎Ȁु�मुीनयम का काय㸭Ā है ैइस 搰Āप मᘮĀ काय㸭Ā करना:

िन쫳Āिल�Āखत �अ�भ樱Āया रेेलवे ेटै縭Āक को जोड़ने ेकेेि लए 䐴Āयोग क�

A  decarboxylating agent / 



Correct Answer : 

40)

Correct Answer : 

38)

Question Stimulus : 

Decrease in number of trees may result in / 

Correct Answer : 

39)

Question Stimulus : 
The process of converting ethanol in to acetic acid is through / एथेनेॉल को ए�सेेटक अ틼Ā मᘮĀ प숝Āर�वत㸭Āत करने ेक�
䐴Āि樱Āया इसकेे 꺢Āारा होती है

Daniel cell is made up of two electrodes  zinc electrode (E0 =    0. 76 V ) and
copper electrode (E0 = + 0.34 V). The cell potential is – /     

0 0िमलकर बना हैज़捀 ा इलेक््ेट縭Āोड

वृ�ृĀ� ंक� सं졋ंĀा घटने ेका प숝Āरणाम हो सकता है ै:

वषा㸭Ā मᘮĀ वृ�ृĀ岚Ā

वषा㸭Ā मᘮĀ कमी

तापमान मᘮĀ कमी

िम㙧Āी केे पोषक त�Ā� ंमᘮĀ वृ�ृĀ岚Ā

वषा㸭Ā मᘮĀ कमी 

प숝Āर�कलतनह�िकया जा सकता �लेेकन

डे삾ेĀल सेले दो इलेक््ेट縭Āोडसे
सेलेि वभव हैै

substitution reaction / 䐴Āित슄Ȁथापन 䐴Āि�त樱Āया

addition reaction  / य ◌ो ग  䐴Ā ि त ि◌ 樱Āय ◌ा

combustion reaction  / दहन 䐴Ā ि �त樱Āया

oxidat ion  r e ac t ion  /  ऑ桉Āी कर ण  䐴Āि त ि◌ 樱Āय ◌ा

oxidat ion  r e ac t ion  /  ऑ桉Āी कर ण  䐴Āि त ि◌ 樱Āय ◌ा  

Increase in rain fall / 

Decrease in rain fall / 

Decrease in temperature / 

I nc r e as e   in  nutr ie nts   in  the   s oil  / 

Decrease in rain fall / 

   ै     (E =   0. 76 V) और कॉपर इलेक््ेट縭Āोड (E =+ 0.34 V) | 

1. 10  V

–  0.   42  V

–  1. 10  V

Cannot be calculated but it can be measured with voltmeter. /  
वो� मीटर 꺢Āारा मापा जा सकता है|◌ै

   ं

1. 10  V  



Question Stimulus : 
The ions of an element has 3 positive charge. The mass number of atoms of this element is 27 and the number of
neutrons is 14. What is the number of electrons in this ion? / एक त�Ā केे आयन� ंकेे पास 3 धना낊Āक आवेशे है|◌ै इस
त�Ā केे परमाणुओंु ंक� 帳Ā帘Ȁमान सं졋ंĀा 27 है ैऔर 삾Āूटू縭Āॉन� ंक� सं졋ंĀा 14 है|◌ै इस आयन मᘮĀ इलै툿ैĀ縭Āॉन� ंक� सं졋ंĀा �Āा है?◌ै

Correct Answer :   

41)

Question Stimulus : 
A metal X forms a water soluble salt XNO3. When an aqueous solution of XNO3 is added to common salt solution,
then a white precipitate of compound Y is formed along with sodium nitrate solution. Metal X is said to be the

Correct Answer : 

42)

Question Stimulus : 

A   pe r s on  is   s uffe r ing  fr om  ble e ding  gum.   He   s hould  inc lude   the   follow ing  in  his   die t  to  ge t  r id  of  his 
इंसंान केे मसू�� ंमᘮĀ खूनू है|◌ै उसे ेइस पीड़ा से ेमु칀ुĀ होने ेकेेि लये ेअपने ेआहार मᘮĀ इसे े�शामल करना �चाहए

Citrus fruits / ख㙧Āे ेफल

Carrots / गाजर

Cod liver oil / कॉड यकृृत तेले

13

10

14

16

10

best conductor of electricity and it does not evolve hydrogen when put in dilute hydrochloric acid. /     ुX 
   XNO3   |◌ै  

नाइटे縭Ā�टवलयनकेेसाथ�यौगक

 XNO3                       ,◌ै   

         Y           |◌ै   ुX               
     ु        े  े        ं | Then – / 

Metal X is silver and compound Y is AgCl /   ुX    ै    Y AgCl 

Metal X is copper and compound Y is CuCl /   ुX    ै    Y CuCl 

Metal X is aluminium and compound Y is AlCl3 /   ुX    ै   Y AlCl3 

Metal X is Gold and compound Y is AuCl /   ुX    ै   Y AuCl 

Metal X is silver and compound Y is AgCl /   ुX    ै    Y AgCl   ै

एक

एक धातु जल
िवलयलवण बनातीहैजब केेजली�यवलयनकोसाधारणलवण�केेवलयनमᘮĀडालाजाताहैतो�सोडयम

काएकसफेेदअव�Āेपेबनताहैधातु�कोवद्ुयु्तकासव∯Ā窅Āमचालककहाजाताहै
औरवहतनुहाइड縭Āो癇Āो숝Āरकअ틼ĀमᘮĀडालेजानेपरहाइड縭Āोज�नव�कसतनह�करता तो

धातुरजतहैऔर�यौगक है

धातुकॉपरहैऔर�यौगक है

धातुऐ�लुु�मनयमहैऔर�यौगक है

धातु�Ȁण㸭Āहैऔर�यौगक है

धातुरजतहैऔर�यौगक है



Vit amin  K  /   K

C itr us   fr uits   / 

An element has the electronic configuration 2,8,8. The atomicity of its molecule is  / 
िव삾Āास 2,8,8 है|◌ै इसकेे अणु ुक� परमाणुकुता हैै

8

0

1

None of the above / उपरो칀Ā कोई नह�

1

Four elements P, Q, R, S have the atomic number 4, 18, 10 and 16 respectively. Which of these element can

Three mixtures A, B and C are obtained by stirring three different solids in water taken in three separate
beakers. All the three solutions are allowed to stand for some time and a beam of light is passed through them in a
dar k  c hambe r.   I t  w as   obs e r ve d  that  par tic le s   of  A   s e ttle   dow n  and  the   path  of  be am  be c ome s   vis
B   do  not  s e ttle   dow n  e ve n  afte r   long  s tanding  but  the   path  of  light  be c ome s   vis ible .   Par tic le s   of  C 
dow n  and  t he   pat h  of   be am  of   light   is   not   vis ible .   W hic h  of   t he   t hr e e   mixt ur e s   is   a  c olloidal  s olu
A, B और C तीन अलग बीकर� ंमᘮĀ िलये ेगये ेजल मᘮĀ तीनि �वभ㚺Ā ठोस� ंकोि हलाने ेसे े䐴ĀाⓃĀ होते ेह阮Ā| सभी तीनि वलय� ंको कुुछ
समय केेि लये ेछोड़ि दया जाता है ैऔर एक अद�ⓃĀ क�Ā मᘮĀ उन पर एक 䐴Āकाश क� बीम डाली जाती है|◌ै यह पाया गयाि क A
केे कण नीचे ेबैठै जाते ेह阮Ā और बीम का रा捀 ा 㙢Ȁष्�्टगोचर हो जाता है|◌ै B केे कण ल�Āे ेसमय तक छोड़ने ेपर भी नीचे ेनह�
बैठैते े�लेेकन 䐴Āकाश का रा捀 ा 㙢Ȁष्�्टगोचर हो जाता है|◌ै C केे कण नीचे ेनह� ंबैठैते ेऔर बीम का रा捀 ा 㙢Ȁष्�्टगोचर नह�
होता| तीन� ंमᘮĀ से ेकौन साि म�Āण कोलॉइडीि वलयन है?◌ै

A

B

C

None of them / उनमᘮĀ से ेकोई नह�

B

िव�टामन

ख㙧Āे ेफल 

एक त�Ā का इले툿ेĀ縭Ā�ॉनक

Correct Answer : 

43)

Question Stimulus : 

Correct Answer :   

44)

Question Stimulus : 

Correct Answer :   

45)

Question Stimulus : 



iii  &  iv

e xhibit s   e le c t r ovale nc y  as   w e ll  as   c ovale nc y  / 
 े    े          ं

P

Q

R

S

S

The percentage of fresh water in total water on the earth is / 

46%

32%

16%

2.5%

2.5%

: 4, 18, 10   16 

प숝Āरवत㸭Āन है?◌ै

लकड़ी �Āयण

लकड़ ◌ी   दहन

लकड़ ◌ी   樱Āकचन

लकड़ी मᘮĀ क�ल गाड़ना

चार त�Ā� ंP, Q, R, S केे परमाणु樱ुĀमांकं 樱Āमश
सेकौनसेत�Āवैदै ्ुयु्तसंयंोजकताएवंसहसंयंोजकता दोन� ं䐴Ā�दशत㸭Ā करते ेह阮Ā?

और

पृ쒒ृĀी पर कुुल जल मᘮĀ ताज़े ेजल क� 䐴Āित逞Ȁता है

िन쫳Ā मᘮĀ से ेकौन सा एक रासा�यनक

ह阮Ā| इनमᘮĀ

Correct Answer :   

46)

Question Stimulus : 

1. Decaying of wood / 

2. Burning of wood / 

3. Sawing of wood / 

Fixing of nail in wood / 

Correct Answer :   

47)

Question Stimulus : 

Which one of the following are the chemical changes? / 

i  & ii

ii  & iii



i  & iv

Correct Answer : 

49)

Question Stimulus : 
It is not advised to sleep in a room with burning coke fire during a cold night. It is due to the harmful effect of /

Correct Answer : 

50)

Question Stimulus : 

Correct Answer : i  & ii 

48)

Question Stimulus : 
The process of converting nitrates and nitrites into elemental nitrogen by bacteria is known as / ता�Ā�Āक नाइट縭Āोजन
मᘮĀ जीवाणुओंु ं꺢Āारा नाइटे縭Āट एवं ंनाइट縭Āाइट प숝Āर�वत㸭Āत करने ेक� 䐴Āि樱Āया को इस 搰Āप मᘮĀ जाना जाता है ै:

Formation of ethene from ethanol is due to /     े

reaction of ethanol with Na metal /     Na 

r e ac t ion  of   e t hanol  w it h  c onc e nt r at e d  H2SO4  / 

oxidat ion  of   e t hanol  in  t he   pr e s e nc e   of   ac idif ie d  KM nO4  / 

             े      े      ं    |             शीतल�रा�ĀमᘮĀजलतीकोक�अ�Āवालेक�ĀमᘮĀसोनेक�सलहनह�द�जाती
है

Carbon monoxide / काब㸭Āन मोनो ऑ桉Āाइड

Carbon dioxide / काब㸭Āन डाइऑ桉Āाइड

Carbon particles / काब㸭Āन कण

Nitrogen gas / नाइट縭Āोजन गैसै

Carbon monoxide / काब㸭Āन मोनो ऑ桉Āाइड 

एथेनेॉलसेएथीन काि नमा㸭Āण इसकेे कारण होता है

एथेनेॉलका धातु ुकेे साथ 䐴Āि�त樱Āया

एथेनेॉल का सां�ं帳Āत H2SO4 केे साथ 䐴Āि�त樱Āया

आ틼Āीय KMnO4 क� उप�Ā슄Ȁ�थत मᘮĀ एथेनेॉल का

Denitrification / िवनाइट縭Āीकरण

Nitrification / नाइट縭Āीकरण

A mmonif ic at ion  /  अ म ◌ो ि◌ नकर ण

Nitrogen fixation / नाइट縭Āोजनि नयतन

Denitrification / िवनाइट縭Āीकरण 

यहइस�केेवनाशकारी䐴Āभावकेेकारणहोता



ऑ桉Āी कर ण

heating ethanol & ethanoic acid in the presence of  concentrated

4क� उप�Ā슄Ȁ�थत मᘮĀ एथेनेॉल और एथेनेोइक अ틼Ā को गरम करकेे

2 4 एथेनेॉल का सां�ं帳Āत 2 4केे साथ 䐴Āि�त樱Āया

H2SO4 / सां�ं帳Āत H2SO 

 7

 13

7

13

reaction of ethanol with concentrated H SO  /   H SO  

1.3  in

Correct Answer : 7 

Correct Answer : 

Topic:  Maths
1)
Question Stimulus : 

Correct Answer :   

2)

Question Stimulus : 

 is_________ / 1.3         

If (x 2) and (x+1) are the factors of 
value of 4a+2b is_________/  �यद (x 2)   ं(x+1) 

  केे ,  तब 4a+2b     

_______

  then the
 

___________

का मान केे 搰Āप मᘮĀ होगा

एवं कारकह阮Ā

का मान होगा



  is______.  / 
मान ______ |

Correct Answer : 90 

5)

Question Stimulus : 

If PQRS is a cyclic quadrilateral with 
x+y is ______.  /  �यद PQRS    
 x+y  का मान _______  है|◌ै 

 

Correct Answer : 7 

4)

Question Stimulus : 

In a triangle, if sum of two angles is 3 times the 3

3)

Question Stimulus : 

The value of  k , if (2,3) is a solution of  kx  3y= 5: / 
तो k का मान :

 kx  3y= 5 

 angle. Then the value of 

 (2,3) 

  ,  then the value of
 , तोएकच樱Āीयचतुभुु㸭ुĀज है,◌ैि जसमᘮĀ 

�यद

एकि �Āभुजु मᘮĀ, �यद दो कोण� ंका योग तीसरेे कोण काि तगुनुा होता है|◌ै तो 

का हल है,◌ै

  का

9

 7

4

7

90

85

80

100

rd



36

77

110

113

15cm

10cm

12cm

25cm

Radii of two cylinders are in the ratio 2:3 and their heights are in the ratio 5:3, then the ratio of their volume is
________. / दो बेलेन� ंक�ि �Ā쩤Āा अनुपुात मᘮĀ 2:3 एवं ंउनक� ल�Āाई अनुपुात मᘮĀ 5:3 है,◌ै तब उनक� आयतन का अनुपुात
________  हो ग ◌ा |

20:27

21:23

2:5

Correct Answer : 113  

6)

Question Stimulus : 

Correct Answer : 10cm 

7)

Question Stimulus : 

Length of the diagonal of the cuboid of sides 8cm, 4cm,  cm is_______. /  

भुजुाएँ ँ8 सेमेी, 4 सेमेी,   सेमेी ह阮Ā, इसकेे ि वकण 㸭Āक� ल�Āाई  _______ |

एक घनाभ क�



3

6

4

8

4:9

  in its simplest form, is /

If ‘m’ and ‘n’ are two natural numbers such that mn = 49, then nm
䐴Āकार ह阮Ā िक mn = 49, तब nm =

128

64

120

96

128

The point of intersection of the lines x + y – 3 = 0 and x – 2y = 6, is / 
िबंदं ुुह阮Ā

( 2 , 4)

( 2 , 1)

  =  /    ‘  m’ 

  x  +  y  –  3  =  0  ं x  –  2y  =  6 

Correct Answer : 4 

10)

Question Stimulus : 

Correct Answer :   

9)

Question Stimulus : 

Correct Answer : 20:27 

8)

Question Stimulus : 

  का सरलतम 搰Āप है ै:

रेेखाएँँ

�यद

एवं

एवं ं‘n’ दो 䐴Āा�कृृतक सं졋ंĀाएँ ँइस

क� 䐴Āित챝Āेदेन



75

80

60

70

(4 ,  1)

(1 ,  2)

1s t  quadr ant   /  1s t 

2n d   quadr ant   /  2n d  

3rd   quadr ant   /  3rd  

4th   quadr ant   /  4th  

3

60Correct Answer :  

Correct Answer : (4 ,  1) 

11)

Question Stimulus : 

Point ( 5 ,  8) lie in  / 

Correct Answer :  rd quadrant / 3rd 

12)

Question Stimulus : 

In   ABC ,  CD � AB, ��BAE =25

   ABC  मᘮĀ,  CD � AB, ��BAE =25 �

 ु( 5 ,  8) 

  and �DCB =55  , then �AEC = /

DCB =55   एवं  ं�DCB =55  , तब �AEC = /

िबंदं ु �Ā슄Ȁथत ह阮Ā इसमᘮĀ :

चतुथुा�Āश

चतुथुा�Āश

चतुथुा�Āश

चतुथुा�Āश

चतुथुा�Āश 



Correct Answer : 

Correct Answer : 110  

14)

Question Stimulus : 

13)

Question Stimulus : 

O is the centre of the circle and �ORS = 
= 70  . तब �PQR :

  . �PQR is:  /   o   ं�ORS

80

110

100

120

21  c m

15  c m

14  c m

12  c m

14  c m 

70 एक वृ窅ृĀ का कᘮĀ帳Āहै ैएवं

A sphere of radius 7cm is immersed in water in a cylinder, the level of water rises by  
 cm. The radius of the cylinder is /  एक  गोला ि जसक� ि �Ā쩤Ā ा  7   ,◌ै                     

िजससे ेपानी का 捀 र    सेमेी बढ़ जाता है।ै बेलेन क�ि �Ā쩤Āा है ै:

सेमेीहैएकबेलेनमᘮĀपानीमᘮĀडूूबजाताहै,◌ै



15)

Question Stimulus : 

If α and β are the zeroes of a polynomial f (x) = 2x2  3x +1 then α2 + β2 = / 
α एवं  ंβ ब�Āपद f (x)  केे शु삾 ुĀक ह阮Ā = 2x2  3x +1, तब  α2 + β2 =

Correct Answer :   

16)

Question Stimulus : 

‘X’ is 30 years older than ‘Y’.  If  ‘Y’ were 5 years younger and ‘X’ were 5 years
older, the age of ‘X’ would have been five times the age of ‘Y’.  The age of ‘X’ is 
/     ु5       ‘X’ क� 5 वष㸭Ā �अधक होती, तो X क� आयु ु‘Y’

Correct Answer : 45 

17)

Question Stimulus : 

Arun covers a distance of 100kms travelling with a uniform speed of ‘x’ kms/hr.
The distance could have been covered in 1hour less, if he had travelled with a
speed of (x+5) kms/hour.  The mathematical representation of the above
statement is /     

/               

�यद

(x+5) 

‘X’ क� आयु ु‘Y’ से े30 वष㸭Ā �अधक है|◌ै �यद ‘Y’ क�आयुवष㸭Āकमऔर
क� आयु ुसे े5 गुणुा �अधक होती, तो X क� आयु ुहै ै 

अ㨰Āण ‘x’ िक०मी०/घंटंा क� एकसमान �गत से े100ि क०मी० क� �ूरीतय करता है|◌ै �यदवह
िक०मी०घंटंाक��गत से े�ूरीतय करता तो यह�ूरी 1 घंटंा पहले ेतय होजाती| उपरो칀Ā त鈁� का �गणती�यन搰Āपण

45

50

65

40



है ै 

Correct Answer : 

18)

Question Stimulus : 

In  , �P = �Q = �R    if  PS �
PS ��QR,  तब  PS2 =

 

 

 QR,  then PS2 = /     ,  �P = �Q = �R  मᘮĀ   �यद 



Correct Answer : 

19)

Question Stimulus : 
The co ordinates of the point on the y axis which are equidistant from the points ( 1,2 ) and (2,3) are   / y 
िकसीि बंदं ुुकेेि नद䘮Āशांकं, जोि कि बंदं ुु(1,2) तथा (2,3) से ेसम�ूर슄Ȁथ ह阮Ā, ह�गें े 

 

Correct Answer : 5 

21)

Question Stimulus : 

The value of sin25   sec40   sec65   sin50   sec60   when evaluated is   / 
sin25   sec40   sec65   sin50   sec60    केे मान का मू刎 ूȀ ां कंनि कया गया तो  

Correct Answer :   

20)

Question Stimulus : 

Points P (1 ,  1), Q (k , 2) and R ( 9 , 5) are collinear.  The value of k is / 
(1  ,   1), Q (k , 2) एवं  ंR ( 9 , 5) सं रेेंखी ह阮Ā| k का मान होगा  

2

1

 5

 3

5

6

( 0, 2)

( 0, 8)

( 0, 4)

( 0, 6)

( 0, 4)

अ �Ā  पर

जब

िबंदं ुु P



Correct Answer : 2 

22)

Question Stimulus : 

The angle subtended at the centre of a circle of radius 18 cm by an arc of length 

Correct Answer : (3 –

24)

Question Stimulus : 
If the sum of the squares of Zeroes of a quadratic polynomial f(x) = x2 + 2x + k is 20, then
the value of k is /  �यद ि 꺢Āघात  ब�Āपद  f(x) = x2 + 2x + k  केे  शू삾 ूĀक�  ं केे  वग砯Ā का  योग  20  है,◌ै  तब  k का  मान   है  ै :

Correct Answer : 120  

23)

Question Stimulus : 

4 

 8

 4

60

90

45

120

(3 –

( 3  – 

  2

)

  )  (3  +  )

  )  (3  +  ) 

W hic h  of   t he   f ollow ing  is   a  r at ional  numbe r ?

/ एक 18 से०ेमी०ि �Ā쩤Āा वाली वृ窅ृĀ मᘮĀ   चाप 꺢Āारा अंतं숝Āरति कया गया कोण  

,   is

 /  िन쫳Ā मᘮĀ से ेकौन एक प숝Āरमेये सं졋ंĀा है?◌ै

2



 5

12

4

 2 < P < 2

P  <   4

 4 < P < 4

 4 < P < 4 

The value of ‘p ‘ for which the equation x2 – px + 4 = 0 has no real roots, is

           ं

If the system of equations 4x + 5y = 3 and ( a + b ) x + (2a – b) y = 9 has infinitely many solutions, then
समीकरणि नकाय 4x + 5y = 3 and ( a + b ) x + (2a – b) y = 9 केे अनंतंत: कई हल ह阮Ā, तब :

a = 3, b = 9

a =   3, b = 9

a = 9 , b = 3

a = 9 , b =  3

a = 9 , b = 3 

 x2 –  px  +  4  =  0 

Correct Answer :  8 

25)

Question Stimulus : 

Correct Answer : 

26)

Question Stimulus : 

Correct Answer : 

27)

Question Stimulus : 
The two A.P’s have the same common difference.  The first term of one of these is 5 and
that of the other is 9.  The difference between their 7th term is  / दो  A.P’s      

 / 

 / 

 p
का मान,ि जसका वा捀 िवक मूलू नह� है ै:

समीकरण

�यद

केेि लए

P   4

   
इनमᘮĀ से ेएक का 䐴Āथम पद 5 एवं ंअ삾Ā का 9 है।ै इनकेे सांतंवे ेपद केे बीच अंतंर है ै:

मᘮĀएकसामा삾Āअंतंरहै।ै



 4

5

4

600

450

300

150

1  s q  unit s

2  s q  unit s

6  s q  unit s

3  s q  unit s

3  s q  unit s

Correct Answer :  4 

28)

Question Stimulus : 

Correct Answer : 

30)

Question Stimulus : 
Find the length of the tangent drawn from a point which is at a distance of 20 cm from the centre of the circle of

Correct Answer : 300 

29)

Question Stimulus : 

Area of a triangle, formed by the points ( 0 ,0 ), ( 2, 0 ) and ( 0, 3),  is / 
,0 ), ( 2, 0 ) एवं  ं( 0, 3)  से  ेबने  ेएकि �Āभुजु का �Ā े� ेĀफल है  ै :

 ु( 0

The acute angle 
 को संतुं訪ुȀ करता है ै:

,    satisfying cosec    =    sec , is /    co sec  =   sec

गयी है।ै

삾Āूनू कोण  का मान, जोि क

सेमेीि �Ā쩤Āा वाली वृ窅ृĀ से े20 सेमेी �ूर �Ā슄Ȁथत एकि बंदं ुुसे े�Āखंचंी

िबंदं ु

 / 1 

 / 2 

 / 6 

 / 3 

 / 3 

वग㸭Ā इकाई

वग㸭Ā इकाई

वग㸭Ā इकाई

वग㸭Ā इकाई

वग㸭Ā इकाई 

radius 12 cm / उस 瘸Ȁश㸭Āरेेखा क� लंबंाई ṢĀात करᘮĀ जो एक 12 



3 A1

4 A1

2 A1

6 A1

1 : 4

1 : 8

4 : 9

2 : 9

14  c m

18  c m

16  c m

10  c m

16  c m Correct Answer : 

31)

Question Stimulus : 

If the circumference of a circle increases from 6   to 12  , then the area changes from A1 to

A2 . Then A2 = / �यद एक वृ窅ृĀ क� प숝Ā�रध 6  से ेबढकर 12  हो जाती है,◌ै तब �Āे�ेĀफल A1 से ेबदलकर A2 हो जाता
है।ै तब A2 =

Correct Answer : 4 : 9 

33)

Question Stimulus : 

Correct Answer : 4  A 1 

32)

Question Stimulus : 
The radii of two cones are in the ratio 3 : 2 and their volumes are equal. The ratio of their
heights is  / दो शंकुुं� ंक�ि �Ā쩤Āा� ंका अनुपुात 3:2 एवं ंउनका आयतन समान है।ै उनकेे ऊचाईय� ंका अनुपुात है ै:



If 

Correct Answer : 

34)

Question Stimulus : 

Correct Answer : 

35)

Question Stimulus : 

 

 

 _______________ /  _______________�यद 

If    is an acute angle, then
___________

  ___________  /   �यद  삾Āूनू कोण है,◌ै तब 

W hic h  of  the   follow ing  options   is   tr ue ? /  िन쫳Ā मᘮĀ से ेकौन साि वक∍Ȁ सही है?◌ै



Correct Answer : 

36)

Question Stimulus : 

Correct Answer : 

37)

Question Stimulus : 
If sin A = 3/4, calculate cos A. / 

Correct Answer : 

38)

Question Stimulus : 

 

If cos  = 0, then cosec 

 

 

= ________ /   cos  = 0,   cosec  = ________

If cosec    = ‘a’, then cot 
=____________  

 =____________  / 

 sin A = 3/4, cos A 

  co sec    =  ‘a’ ,     co t 

�यद

�यद

प 숝Āरक ि◌ल त  क ि◌ीजए

तो

9/16

7/4

4/3

�यद तब



 1

0

1

1/2

1/17

 1/17

 1/5

1/5

5/12

22/19

19/22

22/5

22/19 Correct Answer : 

Correct Answer : 1 

39)

Question Stimulus : 

Correct Answer :  1/17 

40)

Question Stimulus : 

If tan A = 4/3, 
= ___________|

If 5 cos A   12 sin A = 0, find the value of 

  =  ____________.  /  

  /  

 tan A = 4/3, 

 5 cos A   12 sin A = 0,

 

    क ◌ा  मान   ṢĀात  क ि◌ीजए

�यद

�यद



Correct Answer : 

42)

Question Stimulus : 

Correct Answer :   

43)

Question Stimulus : 
If x  =  y a, y  =  z b  a nd z  =  x c, t he n t he  v a lue  of a bc  is  / 

41)

Question Stimulus : 

If 0       90o, the value of sec2

sec2  + cos2  का मान________

 + cos2  __________ /   0       90o,�यद

xyz

can never be less than 2 /   2   े   

is always less than 2 /   2   े   

is always equal to one /        

is always equal to two /       

can never be less than 2

None of these

a bc  का  म ◌ा न है
 x  =  y a, y  =  z b  a nd z  =  x c, �यद

कभी सेकमनह� ंहो सकता

हमेशेा सेकमहोता है

हमेशेाएककेेबराबर होता है

हमेशेादोकेेबराबर होता है

 / कभी 2 से ेकम नह� ंहो सकता 

तो

I f   ,  then x is equal to /  ,   x �यद तो बराबर होगा इसकेे 



0

1

15

11

12

None of these / 

None of these /     े   

None of these / 

इनमᘮĀ से ेकोई नह�

इनमᘮĀसेकोईनह�

इनमᘮĀ से ेकोई नह� ंCorrect Answer : 

Correct Answer : xyz 

44)

Question Stimulus : 

Solve 3(x + 2)   6(2   x) = 9   (5   x) + 81.  / 3(x + 2)   6(2   x) = 9   (5   x) +
81 हल �क�जए

Correct Answer : 

45)

Question Stimulus : 

The 20th and 30th terms of an A.P. are 201 and 301 respectively. Then common

 

difference (d) is  / A.P. का 20वाँ  ँऔर 30वाँ  ँपद 樱Āमश :  201 और 301 ह阮Ā| सामा삾Ā अंतंर (d) है



46)

Question Stimulus : 

Correct Answer : 384 

48)

Question Stimulus : 

Correct Answer : 

47)

Question Stimulus : 

In a GP 5th term is 48 and the common ratio is 2.  Then the 7
5वाँ ँपद 48 है ैऔर सामा삾Ā अनुपुात 2 है|◌ै तो 7वाँ ँपद है,◌ै

 

 term is, / GP 

Find the value of log8 16 / log8 16 

The  t e rm s  6, 4, 3,_______a re  in H.P ., t he n 20
तब 20वाँ ँपद है

 t e rm  is  /   6, 4, 3, ________ H.P. th

का  म ◌ा नि  नका ि◌ लए

पद मᘮĀ ह阮Ā,

th मᘮĀ

96

24

192

384



2

4

Correct Answer : 

Correct Answer :   

49)

Question Stimulus : 

Correct Answer : 100 

50)

Question Stimulus : 

The capacity of a cuboidal tank is 30,000 litres.  The length and breadth of the
tank is 3 m and 2 m respectively, then its depth is /           30,000 

       ं            

Solve for x: 

:  3 

 /   x 

है|◌ै ट阮Āकक�लंबंाईएवंचौड़ाई樱Āमश

केेि लए हल 

एक घनाभ ट阮Āक क� �Āमता
मी०एवं ं2 मी०है,◌ै तबइसक�गहराईहै ै:

लीटर

इनमᘮĀ से ेकोई नह�

�क�जए 

None of these / 

90

10

100

10 m

15 m

5 m

12 m

5 m 


